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Law of Sines - Section 3.1
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Law of Sines Not
If ABC is a triangle with sides a, b, and ¢, then

a b ¢
sinA  sinB  sinC
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A is acute. A is obtuse.
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7. + 0/3 points LarTrig10 3.1.026.

Use the Law of Sines to solve (if possible) the triangle. If two solutions exist, find both. Round your answers to two
places. (If not possible, enter IMPOSSIBLE.)
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Use the Law of SineS to solve (if possible) the triangle. If two solutions exist, find both. Round your ar
e is not possible, enter IMPOSSIBLE in each corresponding answer blank.)

L = 185, b = 280
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f a triangle is not possible, enter IMPOSSIBLE in each corresponding answer blank.)

@aw of Sines to solve (if possible) the triangle. If two solutions exist, find both. Round your answers t
places.

A=052° a=127, b=13.6

Case 1 Case 2

B= | % | ; 57.55| ° (smaller B-value) B = | % | : 122-45\ ° (larger B-value)
c= |x [ 7045 ° c= |x [25.55 °

c=| | [ 15.19] c=| |x [ 1.56]
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